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100 Jt o FLET 120 3 3 2 3 2 3
110 ¥ASTHT 1041 22 33 22 38 22 17
120 AT AHT 179 2 5 2 3 2 8
130 TEFHT 329 7 1 5 4 11 2
140 £ [E] T 47 0 0 0 0 0 1
150 FEFHHET 321 6 9 11 12 13 6
9999 KRB XE 3734 61 67 62 78 70 59
510 AETMTH 400 6 8 7 5 4 4
520 heEE ET 112 3 6 4 5 3 4
530 J\IEHT 233 2 1 2 1 5 5
540 15 EET 403 4 4 2 3 3 9
550 it AT 316 2 4 3 4 4 5
560 = ZEHT 114 0 0 1 0 0 0
570 EEET 61 0 2 0 0 2 1
580 $BHET 119 2 2 2 2 2 0
590 FEET 65 1 0 0 0 1 0
600 R 551 9 15 11 9 17 19
610 EHT 172 1 1 4 1 3 2
620 HAE—TH 2 0 0 0 0 0 0
9999 J\ KB XE 2548 30 43 36 30 44 49
1010 B AHET 155 1 1 4 1 2 3
1020 L HHET 277 13 8 9 9 10 5
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1130 + 0T 33 1 0 0 1 0 0
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1150 FEET—TH 183 4 2 5 8 3 2
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4520 B FKMET 144 2 2 3 2 1 5 1 10 4
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9120 =BTk 208 1 4 2 5 2 5
9130 FEETRE 106 1 1 5 3 2 1
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150 FEFHET 10 5 5 6 5 9 11 9
9999 KRB XE 61 70 69 71 78 90 99 87
510 AETMTH 8 9 5 6 9 3 6 5
520 heEE T 2 5 7 4 5 3 6 1
530 J\IEHT 6 2 3 0 3 4 2 4
540 18R HT 10 8 7 14 14 14 9 13
550 S BT 7 7 18 5 10 6 9 13
560 = ZEHT 1 1 0 0 0 2 1 0
570 EEET 3 1 2 2 3 1 2 1
580 $BHET 4 1 1 1 1 4 1 1
590 FEET 0 0 0 0 0 0 1 0
600 RN 11 11 10 15 13 16 17 14
610 EHT 2 2 2 2 2 0 5 0
620 HAE—TH 0 0 0 0 0 0 0 0
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1040 Fichag:ii 7 11 7 11 10 9 6 11
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1070 Fr IR ET 13 11 13 9 10 11 19 18
1080 E M HET 7 4 9 7 9 12 14 15
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2540 FHi5HT 5 8 6 9 5 7 3 7 3 5
2550 SRET 3 3 2 6 4 4 3 4 4 4
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2570 KEHT 1 1 0 0 2 1 3 1 2 0
9999 WERXE 118 141 133 134 121 131 114 114 114 103
3010 RHTET 21 17 24 22 20 25 19 21 18 17
3020 T ET 19 19 21 20 21 23 17 23 22 19
3030 L+ EET 17 17 20 15 24 26 23 24 32 15
3040 B _ERT 2 1 3 1 3 2 3 6 0 4
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3060 HETHET 5 7 7 11 11 13 12 8 8 5
3070 T BN RT 6 7 5 6 6 6 4 13 8 14
3080 HH ch T 7 11 12 6 10 11 10 7 7 8
3090 H R ET 11 8 6 10 8 12 9 8 10 13
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5520 = Hh BT 18 9 16 10 11 7 10 11 9 11
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